[image: image1.png]1.. Find the critical value Zc that corresponds to a 98% confidence level

2. determine the margin of error if the grade point averages for 10 randomly selected
students from a class of 125 students had a mean of x™ = 2.7. Assume the grade point
average of the 125 students has a mean of = 3.0

3. The standard IQ test has a mean of 100 and a standard deviation of 17. We want to be
99% certain that we are within 2 IQ points of the true mean. Determine the required
sample size.

4. Find the value of E, margin of error for ¢ = .90, n =10, and s = 3.6

5. For a sample of 20 IQ scores the mean score is 105.8. The standard deviation o,is 15.
Determine whether a normal or a t-distribution should be used or whether neither of these
can be used to construct a confidence interval.

6. Construct a 95% confidence interval for the population mean, p. Assume the
population has a normal distribution. A sample of 25 randomly selected students has a
mean test score of 81.5 with a standard deviation of 10.2.

7. A random sample of 10 parking meters in a beach community showed the following
incomes for a day. (3.60,4.50,2.80,6.30,5.20,6.75,4,25,8.00,3‘00) Assume the incomes
are normally distributed. Find the 95% confidence interval for the true mean.

8. A private opinion poll is conducted for a politician to determine what proportion of
the population favors decriminalizing marijuana possession. How large a sample is
needed in order to be 98% confident that the sample proportion will not differ from the
true proportion by more than 5%?




